1. Draw a VENN Diagram and answer the following questions for the sets containing the following numbers.  (4points)

U = {5, 10, 15, 20, 25, 30}


A = {20, 30}


B = {5, 10, 15, 20}

a. n(A) = 

b. A ∩ B =

c. A U B' =

2. For the set below, answer a-f.  (6 points)

{-200, -1.5, 0, ¼, 25, √16, √2}

a. List the natural numbers.

b. List the whole numbers.

c. List the integers.

d. List the rational numbers.

e. List the irrational numbers

f. List the real numbers.

3. Perform the indicated operations to simplify the expression below.  Follow the correct order of operations! (Hint: PEMDAS)  (3 points)

(116-3²) + 168 ÷ 2 - 5²

4. Perform the indicated operations and simplify.  (3 points)

2√75 + 5√48 - 7√3

5. Angle A and Angle B are supplementary angles.  Angle A measures 23º more than Angle B.  What are the measures of the two angles?  (4 points)

6. A large pizza has a diameter of 12 inches.  A medium pizza has a diameter of 10 inches.  The large pizza sells for $10.99.  The medium sells for $8.99.  Which is a better deal?

(6 points)

7. Use the right triangle to find the ratios (in reduced form) for sin A, cos A, and tan A. (5points)

            B

                                     45

         27


            C                                                A


Sin A =


Cos A = 


Tan A = 

8. A restaurant offers 7appetizers, 12 main dishes, and 5 desserts.  How many ways can a person order a three-course meal?  (4 points)

9. A club with 65 members is to select four officers: President, Vice President, Secretary, and Treasurer.  In how many ways can these four offices be filled?  (5 points)

10.  A club with 65 members is to select four officers.  Each of the four officers will have equal authority and responsibility.  In how many ways can these four officers be selected?  (5 points)

11.  A box of chocolates contains 10 truffles filled with coconut, 6 filled with caramel, 5 filled with raspberry, and 3 with mint.  You select one piece, eat it, and select a second.  What is the probability of selecting a raspberry followed by a caramel?  (5 points)

12.   Use the table to answer a-d.  (6 points)

	Home Insurance

Amount of Claim

(to the nearest $25,000)
	Probability

	$0
	0.63

	$25,000
	0.17

	$50,000
	0.09

	$75,000
	0.06

	$100,000
	0.05


a. Calculate the Expected Value and describe what it means in practical terms (don’t give the definition of Expected Value; explain what your solution means in regards to this problem.)

b. How much should the insurance company charge in order to break even as an average premium?

c. How much should the insurance company charge in order to make a profit of $175 per policy?

d. What is the sum of all of the probabilities?  Why?

13.  Use the Frequency Table below to answer questions a-c.  (6 points)

	Age of Student

In Algebra II
	Frequency

	19
	18

	20
	15

	21
	12

	26
	7

	31
	1

	43
	3


a. Find the mean age of Algebra II students from this class.

b. Find the median age of Algebra II students from this class.

c. Find the mode age of Algebra II students from this class.

14.  Find the Standard Deviation of the data items in this sample.  (6 points)

Height of Girls in Mrs. Jones 5th Grade Class (in inches):

42, 48, 49, 51, 52, 52, 52, 54

15.   Use the table below to find the correlation coefficient “r” between the given x and y values.  Also, interpret what your r means.  (8 points)

	X
	Y

	200
	9

	400
	18

	601
	29

	782
	37

	977
	50


a. Calculate the correlation coefficient, r, between x and y.

b. Interpret what your r means.

Extra Credit  (3 points):

The mean life of a certain light bulb is 3.5 years with a standard deviation of 0.5 yrs.  If this set of data fits a normal distribution, what is the probability that your light bulb will last between 2.75 and 4.00 years?  Explain your answer in words as well as stating the probability, AND draw a picture of the appropriate Normal Curve.  Mark the mean and each standard deviation away from the mean.
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